Cetka(1l,1) Crpanvua 1 n3 15 \ \



extdedoou selXeuH

LCETKB (1,2) Crpanvua 2 u3 15




j\]CeTKa (1,3) I / Ctpanvua 3 u3 15
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LCETKa(Z, 2)

Ctpanuua 5 n3 15




CETK% (2,3) Ctpanuua 6 u3 15



Cetka(3,1) Ctpanvua 7 u3 15 \ \\



LCETK3(3,2)

Ctpanuua 8 n3 15

/
|




d\]c{xa( 3,3) CTpatmua 9 u3 15
|



Cetka(4,1) Crpanuua 10 u3 15




LCeTKa (4,2)

CrpaHuua 11 3 15
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LCETKB (4,3)

Crpanuua 12 u3 15



Cetka(5,1) Crpanuua 13 u3 15




LCETKB (5,2)

Crpanuua 14 u3 15




LCETKB (5,3) Crpanuua 15 u3 15



